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Question 1
Question Type: MultipleChoice

Exhibit

Which two statements are correct about the information shown in the exhibit? (Choose two.)



Options: 
A- The root bridge is reachable using the ge-0/0/14 interface.

B- This switch is the root bridge for this spanning tree topology.

C- This switch has a bridge priority of 8k.

D- The root bridge's priority Is 4k.

Answer: 
A, C

Question 2
Question Type: MultipleChoice

Exhibit



You have an established LSP between your R1 and R5 devices using the configuration shown in the exhibit. You are asked to ensure

that MPLS labels are used to forward traffic by all devices within the LSP.

Which action will accomplish this behavior?

Options: 



A- Configure the ultimace-hop-popping statement under the R1_TO_R5 label switched path on R1.

B- Configure the explicit-null statement under the protocol mpls hierarchy on R1.

C- Delete the no-espf statement under the R1_TO_R5 label switched path on R1.

D- Configure the install statement under the R1_TO_R5 label switched path on R1.

Answer: 
D

Explanation: 
https://www.juniper.net/documentation/us/en/software/junos/mpls/topics/ref/statement/install-edit-protocols-mpls.html

Question 3
Question Type: MultipleChoice

Exhibit

S Exhibit

https://www.juniper.net/documentation/us/en/software/junos/mpls/topics/ref/statement/install-edit-protocols-mpls.html


LSI1 A AS 65501

ISPB AS 65502

Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24

\ N

Advertised Prefixes: 172.20.0.0/24

172.20.1.0/24

Referring to the exhibit, which two statements are correct? (Choose two.)

Options: 



A- Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.

B- Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.

C- Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.

D- Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: 
C

Question 4
Question Type: MultipleChoice

Exhibit



Which two statements ate correct about the actions taken as the packet traverses the service provider MPLS network from Site 1 to Site

2 as shown in the exhibit? (Choose two.)

Options: 
A- R2 will perform a lookup using the mpls.0 table.

B- R1 will perform a lookup using the lnet.3 table.

C- R1 will perform a lookup using the mpls.0 table.



D- R2 will perform a lookup using the inet.3 table.

Answer: 
A

Question 5
Question Type: MultipleChoice

Exhibit



You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.

Referring to the exhibit, which command will accomplish this task?

Options: 
A- set protocols ospf area 0.0.0.0 interface ge-0/0/l priority 255



B- set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority 0

C- set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma

D- set protocols ospf area 0.0.0.0 interface ge---0/0/1 interface-type p2p

Answer: 
A

Question 6
Question Type: MultipleChoice

What are two bridging concepts that are used to maintain an Ethernet switching table? (Choose two.)

Options: 
A- learning

B- exporting

C- aging

D- timing



Answer: 
A

Question 7
Question Type: MultipleChoice

Exhibit.



Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24

networks. However, when you view the routing table, your new route hidden.

Which action would you perform to determine the problem?

Options: 



A- Verify that you have active contributing routes on the device.

B- Verify that you have configured a policy on the device to accept aggregate routes.

C- Verify that you have defined a metric value for the aggregate route.

D- Verify that you have set the preference to a lower default value.

Answer: 
D

Question 8
Question Type: MultipleChoice

Exhibit



Referring to the exhibit, which statement is true about VRRP?

Options: 
A- VRRP communication between the two devices is not functioning correctly.

B- Both routers are in the same state because they have the same VRRP priority.

C- RRP Is functioning normally in active/active mode.



D- The routers should use different virtual IP addresses for VRRP to function correctly.

Answer: 
D
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